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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 1 = 7
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 1 mark.

	 (IÊS> - "A')
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
1 A§H$ H$m h¡&
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1)	 (i)	 Compare  705 and 805 ribosomes.

		  705 Ed‘ 805 amB~mogmo‘ H$s VwbZm H$s{OE&

	 (ii)	 What is the function of Histone protein in nucleus?

		  Ho$ÝÐH$ ‘| {hñQ>moZ àmoQ>rZ H$m ³¶m H$m¶© h¡?

	 (iii)	 What is poly ploidy?

		  ~hþ Jw{UVm ³¶m h¡?

	 (iv)	 Define ''Okazaki Fragment''.

		  AmoH$mOmH$s IÊS> H$mo n[a^m{fV H$s{OE&

	 (v)	 What do you understand by back cross and test cross?

		  Amn AZwbmon H«$mg Ed‘ narjU H«$mg go ³¶m g‘PVo hmo?

	 (vi)	 Explain ''Regulator gene''.

		  ""{Z¶m‘H$ OrZ'' H$mo ñnîQ> H$s{OE&

	 (vii)	Define ''Inbreed line Selection''.

		  AÝV… àOmV d§eH«$‘ M¶Z H$mo n[a^m{fV H$s{OE&

	 Section - B	 4 × 3.5 = 14
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 3.5 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 3.5 A§H$m| H$m h¡&
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2)	 ''Genetic code is triplet'', Explain it.

	 ""OoZo{Q>H$ H$mo‹S> {ÌHy$Q> hmoVr h¡'', ñnîQ> H$s{OE&

3)	 Explain ''Operon Model''

	 ""Am°noamZ ‘m°S>b'' H$mo ñnîQ> H$s{OE&

4)	 Write a note on Mitochoundrial DNA.

	 ‘mBQ>moH$m°pÝS´>¶b S>r.EZ.E. na {Q>ßnUr H$[aE&

5)	 Discuss the role of plasmid in gene cloning.

	 OrZ ³bmoqZJ ‘| ßbmpÁ‘S> H$s ^y{‘H$m H$s {ddoMZm H$s{OE&

6)	 Discuss importance of Plant breeding.

	 nmXn àOZZ H$s ‘hÎmm H$s {ddoMZm H$s{OE&

7)	 Write a note on ''Linkage''.

	 ghb½ZVm na OmZH$mar Xr{OE&

8)	 Why Mendel selected Pea for genetic experiments? Explain.

	 ‘oÝS>b Zo ‘Q>a H$mo AmZwdm§{eH$s Ho$ à¶moJm| Ho$ {bE ³¶m| M¶{ZV {H$¶m? 
g‘PmBE&

9)	 Discuss about the enzyme which have role in DNA replication.

	 CZ EÝOmB‘m| H$s {ddoMZm H$s{OE Omo DNA à{VH$aU ‘| AnZr ^y{‘H$m 
aIVo h¢&
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	 Section - C	 2 × 7 = 14
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
7 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡& 

10)	 Explain structure of chromosomes with diagram.

	 JwU gyÌm| H$s g§aMZm H$m {MÌm| H$s ghm¶Vm go dU©Z H$s{OE&

11)	 (i)	 Differential between Hetero chromatin and Euchromatin. 

	 hoQ>oamo H«$mo‘o{Q>Z Ed‘ ¶yH«$mo‘o{Q>Z H$mo {d^o{XV H$s{OE&

	 (ii)	 Differentiate between Inversion and translocation. 

	 à{Vbmo‘Z Ed‘ ñWmZmÝVaU ‘| {d^oXZ H$[aE&

12)	 Discuss ultra structure of nucleus.

	 Ho$ÝÐH$ H$s nam g§aMZm H$s {ddoMZm H$s{OE&

13)	 Write note on followings : 

	 {ZåZ{b{IV na {Q>ßnUr {b{IE …

	 (i)	 Pure line Selection. 

	 ewH«$d§e H«$‘ M¶Z&

	 (ii)	 Plant Introduction. 

	 nmXn nwZ©ñWmnZm&


